000000000 Ouooooogn
O000000MOO0O00000000 2002
00o00oo00ooooooogn

O OO0 (OO0 O000oo0)

1 Jdodoooooooon

gobbbuoooobobbobuooooobobuoooobobbboooog
0000000000000 0o0@Muooo0ooooooooooro O
gobooboboopbzoczz0ioobooobooooooDooooooDmooon
gboboboboionugooooooobobobboz2o002000oonon
goooo

gobbboooobbbooodoobooooobobooooboboboa
000000KOO0000000000000000000000Oo0oO0
gobbbuoooobbboooobbboooobooboan

(1) 0o0000oDoODo000oDOoD00OooD00OooDooooooDOoDO
gbbogboguobboobobobuogbboobooboobbo
gbooboobooboobboobuooboobbooobooobobo
gbbogudgboboobobuoobboobuoobbbooooboobbo
googbobobbooboooboobooboobbobboobo
OOobooobobi198suboonooooozoootoooooonooon
oo

(2 000000ooDoOo0000oo0oooDooOO00 120130000000
gbboobuooobobuoooobuoobboobbbooboobbo



gbbodbooobobdobboobuoobbuoobbbobbabo
gogdddodooddoodooouyduuyuuuyuoUuUugua
gbogbboobodgbobboobbobobuodbooboobbo
gbooboogobuogboboobogboboobboobogobd
gobbooogbbbuoobobbbooodobbbuoooob

@ oOobDoboooooogbOoboOobUo0oboobDobOoboobooboo
gboboboborFObO0ODbObDObDOO0ObOObOObObDOoDOODOO
OoooooborFOOOO0OO0OO0DG43000D0D0ODOOOORFODODO
O0b0o0ooOobooboooboboobooboosebooboobOOO
oo

4 0O0O00o0o0oOoDOooDOoOOoO0OoOoDbobODbobODObOOoOoOooOoooDOo
gooobooboboobboobooboobbbobooobuoobbo
gbodgbuogbuodbudgbogbuagbuooboobooboobo
gobbboooobbboooobbobooooooobooa

G)000ooooopoooooOoooooOooOoOO0O00oOoOooooDobooo
gboobooobobooboboboboobobboooboboo X
gboobobboboobooboobon

(6) COOOoODOOODOOOOOOODODOOOOOOODODOOODO
gbbodboogbboobooobuoobbbobboougbbo
gddddddododooddoddoooooooooouoouououoaoooo
OOooboobOobooooobobDiod1os50n0opnooooooooo
oboobooboboooboboebbobobooobOoboooD
oo

(/OOODODOODOODOODDOODODODOOO1900 00000000
gbboogbboogbobuoobbogbuoobbuoobbogbobodag
gobbooogoboboooobo

@) O00D00DO0DDODO0DO00O0ODO00OD0DOO0ODO0O0OOODO0ODODO
gbbooodboobbuodboobbooboobbuoobobbbo

2



gbbbodbuoobboobuoobboobboboobdoboobbo
goooo

(9 0oO000O0oDooOoO000OooOoooboboOoOooooobooOooogo
gbbobooobbodobobooobbobuooboobbuoobbo
goboobog

(10) 000000000000 WIgX2e (pLaTeX2e] 00000000000
000000000000000000000000000000000
000000000000000000000000000000000
00000000000000000000000

gboobobobobbobooboo@muo 1sdopbooboooboooboo
goboobbobooogbbbodoooobobboooobbboooan
goboboooobod

2 Jodoooooooooooo

gobbobooobobbooooboboboooobboboooobobobod
gobboooobboboooobobbooooboboooobbobooon
Ooooooobooobbogz2o020b00b400boooobbonooon
oooobob0o 140000000 b0o0bO0o0bo0oboboombOoobOon
gbobobooobobo140oobobobboobobbobooon
gobobobodoooobbbodooooooboobobbboooooon
gobbobuooobooobbbouooobobboooobbboooan
gooooboboboooobobobooooobbobooooobobbboooan
goboboggo

e P.190 (2.11)0 0

2 192 4
(O] _ﬁiglxl X

—E : 2_ W4 —}n 2__
O] Sz_ﬂ(iglxi nx)_ni§1Xi X

3



n
[D000] xO0OOO010i0ooooooooooooooooxox-
i=1

n
)_()2:2)(1-2—n7(DDDDDDDDDDDDDDDDDDDDDDDDDD
i=1

gbobobobuogboobboobuoboobbbuodoboobbo
gobboogoobobobbbogaoobooog

P.220 (2.15)0 0

1n,
(O] sy=ZX=X)-Y)
10 1,n 10

0 _ = )V — V) = = Vo — NXV) = = N — ST

[O1 sy="206=X)0 —) = ~(Zxy — 1) = Z 2 Xy = %
n n

[D000] OODOOOOOY(x-Xyi-Y) =Exy-ny00000
i=1 i=1

D0000000D000000000000000000000000

0000000000000 00000000000000000000

DO000D0000D0000D

P.910 0 6.90 (6)0

[0] P(-0.870< X)

[0] PE135<X)

[DO000] P2470 tO00O0OOO8700OO0O0ODOOOOOOODODOO
gbbogudboouobboobuobbooboobbooboog
gobboboooobbbuoooobobbooooobobooooa

P.1570 (9.15) 000000000
[0] DO0O00@O1500000 0---

[0] OO0O0O0U-=(n-2)/c?~y¥(n-2)000000000000 (0
00)0000OUD ZOOOOOOOOOOOO0OO0OO0OO0OO0O0(@O0)0o0
0000 640000000000T=2/yU/(n-2)~t(h-2)0000
00O000000O0000@©.15000000---




[0O000] Dooomoo@e@s)uuooo o---0000D0O00O00O
O00000OooO00ooood(in-2)00000000OP8OO0O 6.4
gobboooobbbuoobobbbooobbbuoooob

y4
- VU/(n-2)
B-pB

NEE
\/(n 2)52( n_2) s/\/g

goboboooobbbooobobobooon

e P.1740 (10.3)0 0

(O]

(O]
[DO000] OboooOo0ooobooO0obOoobOoooooooooDooo
goboboooobobobooood

e P.1920 4000
[O0] »>0,)

(0] v>0)
[0000] 000000000000000000000

e P.2240 230 3000

0] = %ém )2 =2/ =1
[O] = %_i(xi -X)?/E =&/ =1

[D000] 000=0=0000000000/000000000
goboboooobbodd



e P.2320 6.50 3,40 00
[O] n=18000 ---On=19000 ---00000---n=19
(O] n-1=18000 ---On-1=19000 ---00000---n=20

[DDODOO0] nOn-10000000000000D0OCDO0O0O0OOODOO
Ooo0d0n=20000000

e P.2330 6.90 (6)0
[0] P(0.870<X)=0.8
[0] P(E1.35<X) =09

[ODODO0O] P2470tO0O0ODOOOS7000O0O0O0OO0OOOOOOOOO
oobooooooobooooobbooboooboobbOboo.o0s,0.01,
0.025, 0.05, 0.1, 0.9, 0.95,0.975,0.99, 0998 0D 0 0O 0ODOOOOOO
oo

e P.2370 8.130 (3)d
[D ] Zoo1 = 2.576
[O] Zooos= 2576

[D000] 000000000000 00000000000 1%00
000200000200 00000000000000002,,000
000

e P.2380 9.10 2000

[O] (Y= Y)/(X - X)?x \/él(xt—i)z/(vt_v)z — ...

(O] (Y- Y)/ (% - X2 x \/i(XI—Y)Z/ Y -Y)2 =
t=1 t=1 t=1
[0000] 50000000000
t=1

00bo0obdoobdb 140 110g0oboobooboobuoobuoobo
gobboboooobobboooobobobboooobod

6



3 Uoon

goboooboooboobooboboboobooboobooboooobopr221
0243000 0000o0oooboogobobooooonpobbooboooooog
gboooobooboobobooboobboobbooobOooboozo020d
gobbobuooobobobooooobobuooooooobbboooan
gobboboooooobbooooboboboobooooobobbboooon
gbbuogbbuombogbbooboobobobbuoobboooboon
gobbboooobboboooobobbooooboboooobobobooon
gobbboooobbbuoooobbbuoobbboooobbbooan
000000000000 @O00000D0D tanizaki@kobe-u.ac.jp )0



